
Inversa d'una matriu 2x2
- Utilitzant Gauss-Jordan -

2 5
3 5

Utilitzem el mètode de Gauss-Jordan

2 5 1 0 2 5 1 0 -10 0 10 -10
3 5 0 1 0 -5 -3 2 0 -5 -3 2

1

1 0 -10/10 10/10 1 0 -1 1
0 1 3/5 -2/5 0 1 3/5 -2/5

-1 1
3/5 -2/5

3 3
4 3

Utilitzem el mètode de Gauss-Jordan

3 3 1 0 3 3 1 0 -9 0 9 -9
4 3 0 1 0 -3 -4 3 0 -3 -4 3

1

1 0 -9/9 9/9 1 0 -1 1
0 1 4/3 -3/3 0 1 4/3 -1

-1 1
4/3 -1

2 -3
-5 5

Utilitzem el mètode de Gauss-Jordan

2 -3 1 0 2 -3 1 0 -10 0 10 6
-5 5 0 1 0 -5 5 2 0 -5 5 2

1

1 0 -10/10 -6/10 1 0 -1 -3/5
0 1 -5/5 -2/5 0 1 -1 -2/5

-1 -3/5
-1 -2/5

  F 1  = -5·f 1  +  3·f 2

  F 1  = - f 1 /10

  F 2  = - f 2 /5

  Simplificant

  tenim que

  F 2  = - f 2 /3   tenim que

A = uuuu A-1 ?1

  F 1  = f 1
  F 2 = 2·f 2  - 3·f 1

  F 1  = -5·f 1 - 5·f 2
  F 2  = f 2

  F 1  = f 1   F 1  = -3·f 1 - 3·f 2

uuuu A-1 =

2 A = uuuu A-1 ?

  F 1  = - f 1 /9   Simplificant

  F 2  = 3·f 2  - 4·f 1   F 2  = f 2

uuuu A-1 =

3 A = uuuu A-1 ?

  F 2  = 2·f 2  + 5·f 1   F 2  = f 2

  F 1  = f 1

  F 1  = - f 1 /10   Simplificant

  F 2  = - f 2 /5   tenim que

uuuu A-1 =
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